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Cuadro 11 (continuación 2)/Table 11 (continued 2)
Guatemala: tablas abreviadas de mortalidada

 Guatemala: abridged life tables a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.139 0.127  100 000  12 704  91 107 0.856 b 5 099 838 51.0
1 4 0.016 0.062  87 296  5 419  336 743 0.943 c 5 008 731 57.4
5 5 0.006 0.028  81 877  2 303  403 627 0.979 4 671 988 57.1

10 5 0.003 0.014  79 574  1 082  395 165 0.986 4 268 361 53.6
15 5 0.003 0.015  78 492  1 206  389 445 0.982 3 873 197 49.3
20 5 0.004 0.021  77 286  1 629  382 356 0.976 3 483 752 45.1
25 5 0.005 0.027  75 657  2 017  373 240 0.971 3 101 396 41.0
30 5 0.006 0.031  73 639  2 313  362 415 0.966 2 728 156 37.0
35 5 0.007 0.037  71 327  2 606  350 118 0.960 2 365 741 33.2
40 5 0.009 0.044  68 721  3 016  336 064 0.950 2 015 623 29.3
45 5 0.011 0.055  65 705  3 640  319 424 0.936 1 679 559 25.6
50 5 0.015 0.073  62 065  4 546  298 958 0.914 1 360 135 21.9
55 5 0.021 0.100  57 519  5 749  273 221 0.878 1 061 177 18.4
60 5 0.031 0.145  51 770  7 530  240 023 0.831  787 956 15.2
65 5 0.044 0.198  44 239  8 741  199 345 0.772  547 933 12.4
70 5 0.061 0.267  35 499  9 479  153 796 0.682  348 588 9.8
75 5 0.096 0.387  26 020  10 073  104 916 0.556  194 792 7.5
80 5 0.150 0.538  15 946  8 572  58 303 0.412  89 877 5.6
85 5 0.229 0.699  7 375  5 153  23 993 0.271  31 573 4.3
90 5 0.332 0.830  2 222  1 845  6 500 0.158  7 581 3.4
95 5 0.451 0.915   378   345  1 025 0.052 d  1 081 2.9

100 ω 0.577 1.000   32   32   56   56 1.7
Mujeres/Females

0 1 0.125 0.115  100 000  11 454  91 982 0.865 b 5 339 827 53.4
1 4 0.018 0.069  88 546  6 132  340 579 0.939 c 5 247 845 59.3
5 5 0.006 0.029  82 414  2 398  406 073 0.979 4 907 266 59.5

10 5 0.002 0.012  80 015   981  397 624 0.987 4 501 193 56.3
15 5 0.003 0.014  79 034  1 080  392 472 0.984 4 103 569 51.9
20 5 0.004 0.019  77 955  1 501  386 019 0.978 3 711 098 47.6
25 5 0.005 0.024  76 453  1 826  377 701 0.975 3 325 079 43.5
30 5 0.005 0.027  74 627  1 995  368 148 0.972 2 947 378 39.5
35 5 0.006 0.029  72 632  2 142  357 805 0.968 2 579 230 35.5
40 5 0.007 0.034  70 490  2 413  346 418 0.962 2 221 424 31.5
45 5 0.009 0.043  68 077  2 918  333 089 0.950 1 875 007 27.5
50 5 0.012 0.057  65 159  3 740  316 443 0.931 1 541 918 23.7
55 5 0.017 0.080  61 418  4 931  294 765 0.900 1 225 475 20.0
60 5 0.026 0.121  56 488  6 856  265 298 0.856  930 710 16.5
65 5 0.037 0.169  49 632  8 394  227 175 0.801  665 412 13.4
70 5 0.053 0.234  41 238  9 668  182 021 0.716  438 237 10.6
75 5 0.084 0.349  31 570  11 008  130 331 0.593  256 216 8.1
80 5 0.134 0.497  20 562  10 212  77 281 0.453  125 885 6.1
85 5 0.200 0.647  10 350  6 699  35 004 0.318  48 604 4.7
90 5 0.286 0.780  3 651  2 847  11 138 0.203  13 600 3.7
95 5 0.387 0.875   804   704  2 261 0.082 d  2 462 3.1

100 ω 0.498 1.000   100   100   201   201 2.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


